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Problem 1  

Annual usage: 8000 boxes of syringe 

Cost of ordering: 10,250 per order  

Annual holding cost: 1000 pesos per year  

Lead time: 5 days  

 

 

 

 

 

 

 

 

 

 
For maximum financial benefit and storage space utilization, order 405 boxes of syringe 

each time the inventory drops to 110 (about every 18 days). 

 

 

 

Problem 2   

Annual usage: 2000 boxes of red top tubes  

Cost of ordering: 4350 per order  

Annual holding cost: 2000 pesos per year  

Lead time: 10 days  

 

 

 

 

    

 

 

 

 

 

For maximum financial benefit and storage space utilization, order 93 boxes of red top 

tubes each time the inventory drops to 55 (about every 17 days). 

𝐸𝑂𝑃 =
𝑎𝑛𝑛𝑢𝑎𝑙 𝑢𝑠𝑎𝑔𝑒 × 𝑙𝑒𝑎𝑑 𝑡𝑖𝑚𝑒 

365 𝑑𝑎𝑦𝑠
 

=
8,000 × 5 

365 
 

= 𝟏𝟏𝟎 𝒃𝒐𝒙𝒆𝒔 𝒐𝒇 𝒔𝒚𝒓𝒊𝒏𝒈𝒆 

𝐸𝑂𝑄

= √
2 × (𝑎𝑛𝑛𝑢𝑎𝑙 𝑢𝑠𝑎𝑔𝑒 × 𝑐𝑜𝑠𝑡 𝑜𝑓 𝑜𝑟𝑑𝑒𝑟𝑖𝑛𝑔)

𝑎𝑛𝑛𝑢𝑎𝑙 ℎ𝑜𝑙𝑑𝑖𝑛𝑔 𝑐𝑜𝑠𝑡 𝑝𝑒𝑟 𝑢𝑛𝑖𝑡

= √
2 × (8,000 × 10,250 )

1,000

= 𝟒𝟎𝟓 𝒃𝒐𝒙𝒆𝒔 𝒐𝒇 𝒔𝒚𝒓𝒊𝒏𝒈𝒆 

𝑅𝑂𝑇 =
𝐸𝑂𝑄

𝑎𝑛𝑛𝑢𝑎𝑙 𝑢𝑠𝑎𝑔𝑒
× 365 𝑑𝑎𝑦𝑠 

=
405 

8,000 
× 365 𝑑𝑎𝑦𝑠 

= 𝟏𝟖 𝒅𝒂𝒚𝒔 

𝐸𝑂𝑃 =
𝑎𝑛𝑛𝑢𝑎𝑙 𝑢𝑠𝑎𝑔𝑒 × 𝑙𝑒𝑎𝑑 𝑡𝑖𝑚𝑒 

365 𝑑𝑎𝑦𝑠
 

=
2,000 × 10 

365 
 

= 𝟓𝟓 𝒃𝒐𝒙𝒆𝒔 𝒐𝒇 𝒓𝒆𝒅 𝒕𝒐𝒑 𝒕𝒖𝒃𝒆𝒔 

𝐸𝑂𝑄

= √
2 × (𝑎𝑛𝑛𝑢𝑎𝑙 𝑢𝑠𝑎𝑔𝑒 × 𝑐𝑜𝑠𝑡 𝑜𝑓 𝑜𝑟𝑑𝑒𝑟𝑖𝑛𝑔)

𝑎𝑛𝑛𝑢𝑎𝑙 ℎ𝑜𝑙𝑑𝑖𝑛𝑔 𝑐𝑜𝑠𝑡 𝑝𝑒𝑟 𝑢𝑛𝑖𝑡

= √
2 × (2,000 × 4,350 )

2,000

= 𝟗𝟑 𝒃𝒐𝒙𝒆𝒔 𝒐𝒇 𝒓𝒆𝒅 𝒕𝒐𝒑 𝒕𝒖𝒃𝒆𝒔 

𝑅𝑂𝑇 =
𝐸𝑂𝑄

𝑎𝑛𝑛𝑢𝑎𝑙 𝑢𝑠𝑎𝑔𝑒
× 365 𝑑𝑎𝑦𝑠 

=
93 

2,000 
× 365 𝑑𝑎𝑦𝑠 

= 𝟏𝟕 𝒅𝒂𝒚𝒔 



Problem 3  

Annual usage: 12000 boxes of glass slides   

Cost of ordering: 9850 per order 

Annual holding cost: 6000 pesos per year  

Lead time: 15 days  

 

 

 

 

 

 

 

 

 

 

 

    
       

For maximum financial benefit and storage space utilization, order 198 boxes of glass slide 

each time the inventory drops to 493 (about every 6 days). 

 

𝐸𝑂𝑃

=
𝑎𝑛𝑛𝑢𝑎𝑙 𝑢𝑠𝑎𝑔𝑒 × 𝑙𝑒𝑎𝑑 𝑡𝑖𝑚𝑒 

365 𝑑𝑎𝑦𝑠

=
12,000 × 15 

365 
= 𝟒𝟗𝟑 𝒃𝒐𝒙𝒆𝒔 𝒐𝒇 𝒈𝒍𝒂𝒔𝒔 𝒔𝒍𝒊𝒅𝒆𝒔 

𝑅𝑂𝑇 =
𝐸𝑂𝑄

𝑎𝑛𝑛𝑢𝑎𝑙 𝑢𝑠𝑎𝑔𝑒
× 365 𝑑𝑎𝑦𝑠 

=
93 

2,000 
× 365 𝑑𝑎𝑦𝑠 

= 𝟔 𝒅𝒂𝒚𝒔 

𝐸𝑂𝑄

= √
2 × (𝑎𝑛𝑛𝑢𝑎𝑙 𝑢𝑠𝑎𝑔𝑒 × 𝑐𝑜𝑠𝑡 𝑜𝑓 𝑜𝑟𝑑𝑒𝑟𝑖𝑛𝑔)

𝑎𝑛𝑛𝑢𝑎𝑙 ℎ𝑜𝑙𝑑𝑖𝑛𝑔 𝑐𝑜𝑠𝑡 𝑝𝑒𝑟 𝑢𝑛𝑖𝑡

= √
2 × (12,000 × 9,850 )

6,000

= 𝟏𝟗𝟖 𝒃𝒐𝒙𝒆𝒔 𝒐𝒇 𝒈𝒍𝒂𝒔𝒔 𝒔𝒍𝒊𝒅𝒆𝒔 


